T 6 EE HEFE

—RMETEN HICE RL a4

1. 3B
X 45 SR AN B | T AR FERMF R &
K 2 g A LA 1 A 70,000 840, 000
R oA 1 A | 70,000 840, 000
LA 1 A 50, 000 600, 000 | « EFcAE. KFPek. KP4
K % A& HEREAE 0 A 0 ?%@%#oﬁ?ﬁﬂ’ai%%%%&
- seEpAl 0 A 0 |TRFE
YRR 0 A 0
. 2EEPEA 1 A 30, 000 360, 000
oA SRR 0 A 0
B/ 2 & 2t 4 A ¥2, 640, 000 56. 9%
2. W ERE
A - HiEs 3% & B H &
1 500, 000 W RE i P AR B
- BHEERY 505 H
¥ W BMRARE &t 1 ¥500, 000
3. HRRBhREZE
RZE IR RN R O A A & B H &
1 1, 500, 000 < 124720 1505 LA
H R Bh Rk H 1 ¥1, 500, 000
| 2B R E ¥ /B ¥2, 640, 000 | 56. 9%]
| WFoeRE & HRBIRR /NEE ¥2, 000, 000 | 43. 1%

( ENE N ReEr ¥4, 640,000 | 100. 0%||

all




